Sigma J Eng & Nat Sci 9 (3), 2018, 331-340



Publications Prepared for the 2017 and 2018 International Conference on Applied Analysis and Mathematical Modeling Special Issue was published by reviewing extended papers



Research Article

ON SUFFICIENT CONDITION FOR STARLIKENESS OF CONFLUENT HYPERGEOMETRIC FUNCTIONS

İsmet YILDIZ¹, Alaattin AKYAR², Oya MERT^{*3}

¹Department of Mathematics, Düzce University, DÜZCE; ORCID:0000-0001-7544-4835 ²Department of Mathematics, Düzce University, DÜZCE; ORCID:0000-0003-4759-8313 ³Department of Basic Sciences, İstanbul Altınbaş University, İSTANBUL; ORCID:0000-0002-8791-3341

Received: 27.09.2018 Revised: 16.10.2018 Accepted: 21.10.2018

ABSTRACT

In the present paper, firstly some univalent functions are obtained as special cases of hypergeometric functions and then we have discussed the starlikeness of confluent hypergeometric functions. **Keywords:** Analytic function, univalent function, starlike functions, classes of starlike functions, hypergometric series, confluent hypergeometric function.

1. INTRODUCTION AND DEFINITIONS

We begin with introducing some of the important functions and their class in this present paper.

Definition 1. A function f(z) = w is called analytic in a neighborhood U of z if it is differentiable everywhere in $U \subset \mathfrak{t}$.

Corollary 2. If f(z) = w is analytic at point z, then f(z) = w has continuous derivatives of every order at the point z.

Definition 3. A single-valued function f(z) = w is said to be univalent (schlicht or one-toone) in domain $\mathcal{U} \subset \mathfrak{L}$ if it never takes the same value twice; that is, if $f(z_1) - f(z_2) \neq 0$ for all z_1 and z_2 points in \mathcal{U} with $z_1 \neq z_2$.

For analytic functions f(z) = w, the condition $f'(z) \neq 0$ is equivalent to local univalence at the point z. The condition $f'(z) \neq 0$ is necessary for univalence of f(z) = w but not sufficient. Note that it is a very important property to be univalent for a complex function. Suppose that a function f(z) = w is a univalent function in the open unit disk $\mathcal{U} = \{z : |z| < 1\}$.

^{*} Corresponding Author: e-mail: oya.mert@altinbas.edu.tr, tel: (212) 604 01 00 / 4116

Then we say that the function f(z) = w maps the domain $\mathcal{U} \subset \pounds$ into w-plane. The domain $f(\mathcal{U})$ is called the image of \mathcal{U} under the mapping f(z) = w and also \mathcal{U} is called the preimage of $f(\mathcal{U})$. If f(z) = w is a univalent mapping of domain \mathcal{U} onto $f(\mathcal{U})$, the derivative f'(z) is nonzero at all finite point of domain \mathcal{U} at which f(z) = w is regular. Therefore, a univalent mapping is also called a conformal mapping of the domain \mathcal{U} onto the domain $f(\mathcal{U})$. In other words, analytic univalent functions are conformal transformations because of the angle preservation.

Definition 4. A domain f(U) in w-plane is said to be starlike with respect to a point $w_0 \in f(U)$ if for each point $w \in f(U)$ the line-segment $[w_0w]$ is entirely contained in f(U). In this case we say that the function f(z) = w is to be starlike function with respect to the $w_0 \in f(U)$.

Note that the theory of functions is dealt with functions f(z) = w which is analytic in the open unit disk \mathcal{U} and normalized to by the condition f(0) = f'(0) - 1 = 0. That is we will mostly consider $\mathcal{U} = \mathcal{U} = \{z : |z| < 1\}$. Now let \mathcal{A} be the class of analytic and normalized functions in \mathcal{U} . That is

$$\mathcal{A} = \left\{ f(z) = w \middle| f: \mathcal{U} \to f(\mathcal{U}), f(0) = f'(0) - 1 = 0, |z| < 1 \right\}.$$

Then

$$f(z) = w \in \mathcal{A}, \ w = f(z) = z + \sum_{n=2}^{\infty} a_n z^n$$

that is

$$w = f(z) = f(0) + \frac{f'(0)}{1!} z + \frac{f''(0)}{2!} z^2 + \dots = \sum_{n=0}^{\infty} \frac{f^{(n)}(0)}{n!} z^n.$$

This is originally the expansion of Taylor series for $f(z) = w \in A$. Further, let S denote the class of all functions in A which are univalent in \mathcal{U} . That is

$$\mathcal{S} = \left\{ f(z) = w \in \mathcal{A} \middle| f : \mathcal{U} \to f(\mathcal{U}) \text{ is univalent} \right\}$$

Definition 5. $f(z) = w \in A$ function is said to be starlike if the image domain of f(z) = w is starlike with respect to the origin $w_0 = 0$.

Definition 6. The f unctions $f(z) = w \in A$ starlike are said to be in the class S^* . That is

$$\mathcal{S}^* = \left\{ f(z) = w \in \mathcal{A} \middle| f : \mathcal{U} \to f(\mathcal{U}) \text{ is starlike} \right\}.$$

Definition 7. A series $\sum_{n=0}^{\infty} a_n$ is called hypergeometric series if the ratio $\frac{a_{n+1}}{a_n}$ is a rational function of $n (n \in \{0, 1, 2, ...\})$.

Definition 8. The hypergeometric function ${}_{2}F_{1}(a,b;c;z)$ is defined by means of a hypergeometric series as

$${}_{2}F_{1}(a,b;c;z) = 1 + \frac{ab}{c} \frac{z}{1!} + \frac{a(a+1)b(b+1)}{c(c+1)} \frac{z^{2}}{2!} + \dots$$
$$= \sum_{n=0}^{\infty} \frac{(a)_{n}(b)_{n}}{(c)_{n}} \frac{z^{n}}{n!}.$$
(1)

with $a, b, c \in f$ and $c \neq 0, -1, -2, ...$ where $(a)_n$ denotes the Pochhammer symbol

$$(a)_{n} = \begin{cases} a(a+1)(a+2)...(a+n-1) & (n \neq 0) \\ 1 & (a \neq 0, n = 0). \end{cases}$$

Note that,

2 : refers to number of parameters in numerator

1 : refers to number of parameters in denominator.

We consider that $_{1}F_{1}(a,c;z) = \varphi(z)$ is a hypergeometric function. We now list some of simple properties of hypergeometric functions:

(i) The function $\varphi(z)$ satisfies the following Kummer hypergeometric differential equation

(ii)
$$z\phi''(z) + (c-z)\phi'(z) - a\phi(z) = 0.$$
$$\frac{d}{dz} {}_{1}F_{1}(a,c;z) = \frac{a}{c} {}_{1}F_{1}(a+1,c+1;z).$$

For convenience, we define the general term $A_n = \frac{(a)_n (b)_n}{(c)_n n!}$ so that the hypergeometric

series is presented as

$$_{2}F_{1}(a,b;c;z) = \sum_{n=0}^{\infty} A_{n}z^{n}.$$

Otherwise, a hypergeometric function is a polynomial in *z*. Applying to the standard ratio test, we obtain;

$$\lim_{n\to\infty}\left|\frac{A_{n+1}z^{n+1}}{A_nz^n}\right| = \lim_{n\to\infty}\frac{(a+n)(b+n)}{(c+n)(n+1)}|z| = |z|.$$

It follows that the hypergeometric series is absolutely convergent in the open unit disk \mathcal{U} , where it defines an analytic function. All the elementary functions and many special functions including all univalent functions are special cases of the hypergeometric functions. We consider some particularly simple and important examples:

(i) when a = 1 and b = c in (1)

$$F(z) \equiv {}_{2}F_{1}(1,c;c;z) = \sum_{n=0}^{\infty} \frac{(1)_{n}(c)_{n}}{(c)_{n}} \frac{z^{n}}{n!}$$

= $\frac{(1)_{0} \cdot (c)_{0}}{(c)_{0}} \frac{z^{0}}{0!} + \frac{(1)_{1} \cdot (c)_{1}}{(c)_{1}} \frac{z^{1}}{1!} + \frac{(1)_{2} \cdot (c)_{2}}{(c)_{2}} \frac{z^{2}}{2!} + \frac{(1)_{3} \cdot (c)_{3}}{(c)_{3}} \frac{z^{3}}{3!} + \dots$
= $\frac{1.1}{1} \frac{1}{1} + \frac{1.c}{c} \frac{z}{1} + \frac{1.2.c(c+1)}{c(c+1)} \frac{z^{2}}{2!} + \frac{1.2.3.c(c+1)(c+2)}{c(c+1)(c+2)} \frac{z^{3}}{3!} + \dots$
= $1 + z + z^{2} + z^{3} + \dots$
= $\frac{1}{1-z} = (1-z)^{-1}$

By using the above function, we have

$$z_{2}F_{1}(1,c;c;z) = z\frac{1}{1-z} = z(1-z)^{-1}.$$

Note that the function $w = f(z) = z(1-z)^{-1}$ is one of the leading examples of class S. (ii) When a = 1 and $b = c = \frac{3}{2}$ in (1)

$$z_{2}F_{1}\left(1,\frac{3}{2};\frac{3}{2};z^{2}\right) = z + z^{3} + z^{5} + z^{7} + \dots$$
$$= z\left(1 + z^{2} + z^{4} + z^{6} + \dots\right)$$
$$= z\frac{1}{1 - z^{2}} = z\left(1 - z^{2}\right)^{-1}.$$

The obtained above function is the most important member of the class $\boldsymbol{\mathcal{S}}^{*}$.

(iii) when
$$a = \frac{1}{2}, b = 1$$
 and $c = \frac{3}{2}$ in (1)

$$z_{2}F_{1}\left(\frac{1}{2}, 1; \frac{3}{2}; z^{2}\right) = z\sum_{n=0}^{\infty} \frac{\left(\frac{1}{2}\right)_{n}\left(1\right)_{n}}{\left(\frac{3}{2}\right)_{n}} \frac{\left(z^{2}\right)^{n}}{n!}$$

$$= z\left\{\frac{\left(\frac{1}{2}\right)_{0}\cdot\left(1\right)_{0}}{\left(\frac{3}{2}\right)_{0}} \frac{\left(z^{2}\right)^{0}}{0!} + \frac{\left(\frac{1}{2}\right)_{1}\cdot\left(1\right)_{1}}{\left(\frac{3}{2}\right)_{1}} \frac{\left(z^{2}\right)^{1}}{1!} + \frac{\left(\frac{1}{2}\right)_{2}\cdot\left(1\right)_{2}}{\left(\frac{3}{2}\right)_{2}} \frac{\left(z^{2}\right)^{2}}{2!} + \ldots\right\}$$

$$= z\left\{\frac{1.1}{1}\frac{1}{1} + \frac{\left(\frac{1}{2}\right)\cdot\left(1\right)}{\left(\frac{3}{2}\right)}\frac{z^{2}}{1} + \frac{\left(\frac{1}{2}\right)\left(\frac{1}{2}+1\right)\cdot\left(1\right)\cdot\left(1+1\right)}{\left(\frac{3}{2}\right)\left(\frac{3}{2}+1\right)}\frac{\left(z^{2}\right)^{2}}{2} + \ldots\right\}$$

$$= z \left\{ 1 + \frac{1}{3} z^{2} + \frac{1}{5} z^{4} + \ldots \right\}$$
$$= z + \frac{1}{3} z^{3} + \frac{1}{5} z^{5} + \ldots$$
$$= \frac{1}{2} \ln \left(\frac{1+z}{1-z} \right).$$

The function $w = f(z) = \frac{1}{2} \ln \left(\frac{1+z}{1-z} \right)$ is a well-known function for the class S^* .

(iv) when a = c = 1 and b = 2 in (1)

$$z_{2}F_{1}(1,2;1;z) = z\sum_{n=0}^{\infty} \frac{(1)_{n}(2)_{n}}{(1)_{n}} \frac{z^{n}}{n!}$$

$$= z\left\{\frac{(1)_{0}\cdot(2)_{0}}{(1)_{0}} \frac{z^{0}}{0!} + \frac{(1)_{1}\cdot(2)_{1}}{(1)_{1}} \frac{z^{1}}{1!} + \frac{(1)_{2}\cdot(2)_{2}}{(1)_{2}} \frac{z^{2}}{2!} + \frac{(1)_{3}\cdot(2)_{3}}{(2)_{3}} \frac{z^{3}}{3!} + \dots\right\}$$

$$= z\left\{\frac{1.1}{1}\frac{1}{1} + \frac{1.2}{1}\frac{z}{1} + \frac{1.2.2.3}{1.2}\frac{z^{2}}{2!} + \frac{1.2.3.2.3.4}{1.2.3}\frac{z^{3}}{3!} + \dots\right\}$$

$$= z\left(1 + 2z + 3z^{2} + 4z^{3} + \dots\right)$$

$$= z + 2z^{2} + 3z^{3} + 4z^{4} + \dots$$

$$= z\frac{1}{(1-z)^{2}} = z(1-z)^{-2}.$$

The obtained above function is the most important member of the class S^* which is called Koebe function.

Definition 9. The confluent hypergeometric function is defined by $_{1}F_{1}(a,c;z) = \sum_{n=0}^{\infty} \frac{(a)_{n}}{(c)_{n}} \frac{z^{n}}{n!}$.

This series defines an entire function of z for with $a, c \in \mathfrak{t}$ and $c \neq 0, -1, -2, ...$

Note that for a given univalent function in many cases starlikeness is not easy to see. There are a lot of necessary and sufficient conditions of functions to ensure starlikeness. This issue has been investigated by many scientists up until now. They have approached the subject from different points of views:

(i) a function $f(z) = w \in A$ is said to be starlike in \mathcal{U} if it satisfies

$$\mathcal{Re}\left(\frac{zf'(z)}{f(z)}\right) > 0, \ (z \in \mathcal{U}).$$

(ii) a function $f(z) = w \in A$ is said to be starlike of order α in \mathcal{U} if it satisfies

İ. Yıldız, A. Akyar, O. Mert / Sigma J Eng & Nat Sci 9 (3), 331-340, 2018

$$\mathcal{Re}\left(\frac{zf'(z)}{f(z)}\right) > \alpha, \ (z \in \mathcal{U})$$

for some α , $(0 \le \alpha < 1)$.

We recall that the following preliminary lemmas for univalency of the confluent hypergeometric functions are introduced by Miller and Mocanu [2].

Lemma 10. For $a \in \mathbb{R}$ and $c \in \mathbb{R}$ if one of the following conditions

(i) when
$$0 < a$$
 and $a \le c$

(ii) when $a \le 0$ and $1 + \sqrt{1 + a^2} \le c$

is satisfied, then

$$\operatorname{Re}\left\{ {}_{1}F_{1}(a,c;z)\right\} > 0 \quad (z \in \mathcal{U}).$$

Lemma 11. For $a \in \mathbb{R}$ and $c \in \mathbb{R}$ if one of the following conditions

- (i) when -1 < a and $a \le c$
- or

(ii) when
$$-1 \ge a$$
 and $\sqrt{1 + (1 + a)^2} \le c$

is satisfied, then

$$\operatorname{Re}\left\{\frac{c}{a} \,_{1}F_{1}'\left(a,c;z\right)\right\} > 0 \quad (z \in \mathcal{U}).$$

Therefore, $_{1}F_{1}(a,c;z)$ is univalent in \mathcal{U} .

Lemma 12. Let *E* be a set in the complex plane £, and let a function $\psi : \pounds^2 \mathbf{x} \mathcal{U} \to \pounds$ satisfy $\psi(is,t;z) \notin E$ for all $z \in \mathcal{U}$ and for all real *s* and *t* satisfying $t \leq -\frac{(1+s^2)}{2}$. If $\sigma(z)$ is analytic in \mathcal{U} with $\sigma(0) = 1$ and $\psi(\sigma(z), z\sigma'(z); z) \in E$ for all $z \in \mathcal{U}$, then $\operatorname{Re} \sigma(z) > 0$ ($z \in \mathcal{U}$) ([1]).

2. STARLIKENESS

In section 2, we modified a sufficient condition for starlikeness of confluent hypergeometric function:

$$_{1}F_{1}(a,c;z) = \sum_{n=0}^{\infty} \frac{(a)_{n}}{(c)_{n}} \frac{z^{n}}{n!}$$

There are some important studies in the literature that triggering the examination of univalent and starlikeness of hypergeometric functions ([3],[4]).

Theorem 1. Let
$$a = a_1 + ia_2$$
 and $c = c_1 + ic_2$ with $c \neq 0, -1, -2, ...,$ and $\frac{1-2^{-r}}{3-2^{1-r}}c_2 \le a_2$.

Let us $_{1}F_{1}(a,c;z) \neq 0$ $(z \in \mathcal{U})$. If one of the following conditions

(i) when
$$a_1 > \frac{2(1-2^{-r})(2-2^{-r})}{(3-2^{1-r})} = \frac{(2-2^{1-r})(2-2^{-r})}{(3-2^{1-r})}$$
 and
 $c_2^2 - 2c_2 - (3-2^{1-r})(2c_1+2^{1-r}-3) \le -\frac{2(3-2^{1-r})}{(1-2^{-r})}(a_1+a_2+2^{-r}-1)$

or

(ii) when
$$\frac{2(1-2^{-r})^2}{(3-2^{1-r})} < a_1 \le \frac{2(1-2^{-r})(2-2^{-r})}{(3-2^{1-r})}$$
 and
 $(1-c_2)^2 - (3-2^{1-r})(2c_1+2^{1-r}-3) \le -\frac{(3-2^{1-r})}{(1-2^{-r})} \left\{ \frac{(3-2^{1-r})(1-2^{-r}-a_1)^2}{(1-2^{-r})} + 2a_2 \right\}$
or

or

(iii) when
$$a_1 \le \frac{2(1-2^{-r})^2}{(3-2^{1-r})}$$
 and
 $c_2^2 - 2c_2 - (3-2^{1-r})(2c_1+2^{1-r}-3) \le \frac{2(3-2^{1-r})}{(1-2^{-r})}(a_1-a_2+2^{-r}-1)$

is satisfied for 2^{-r} , where *r* is a positive integer, then the function $z_1F_1(a,c;z)$ is starlike of order 2^{-r} in \mathcal{U} . This is an alternative theorem to the theorem in ([5]). **Proof.**

It is well-known that the hypergeometric function $_{1}F_{1}(a,c;z)$ satisfies the second order differential equation:

$$z_{1}^{2}F_{1}''(a,c;z) + (c-z)z_{1}F_{1}'(a,c;z) - az_{1}F_{1}(a,c;z) = 0$$

or equivalently:

$$\frac{z_{1}^{2}F_{1}''(a,c;z)}{F_{1}(a,c;z)} + (c-z)\frac{z_{1}F_{1}'(a,c;z)}{F_{1}(a,c;z)} - az = 0.$$

Let $\phi(z) = z_{1}F_{1}(a,c;z)$ and $\sigma(z)$ be defined by

$$\frac{z\phi'(z)}{\phi(z)} = 2^{-r} + (1 - 2^{-r})\sigma(z).$$

Then $\sigma(z)$ is analytic in \mathcal{U} and $\sigma(0) = 1$.

The details are as follows:

$$z^{2}{}_{1}F_{1}''(a,c;z) + (c-z)z_{1}F_{1}'(a,c;z) - az_{1}F_{1}(a,c;z) =$$

= $(1-2^{-r})z\sigma'(z) + (1-2^{-r})^{2}(\sigma(z))^{2} + \sigma(z)((1-2^{-r})(c-1-z)-2(1-2^{-r})^{2}) + (1-2^{-r})^{2} - (1-2^{-r})(c-1-z) - az = 0$

İ. Yıldız, A. Akyar, O. Mert / Sigma J Eng & Nat Sci 9 (3), 331-340, 2018

$$= (1-2^{-r})z\sigma'(z) + (1-2^{-r})^{2}(\sigma(z))^{2} + \sigma(z)(1-2^{-r})((c-1-z)-2(1-2^{-r})) + (1-2^{-r}-a)z + (1-2^{-r})(2-2^{-r}-c) = 0$$

$$= (1-2^{-r})\left\{z\sigma'(z) + (1-2^{-r})(\sigma(z))^{2} + \sigma(z)(c-3+2^{1-r}-z) + \frac{(1-2^{-r}-a)}{(1-2^{-r})}z + (2-2^{-r}-c)\right\} = 0$$
(2)

Let us now define $E = \{0\}$ and

$$\psi(w_1, w_2; z) = w_2 + (1 - 2^{-r})w_1^2 + (c - 3 + 2^{1-r} - z)w_1 + \frac{(1 - 2^{-r} - a)}{(1 - 2^{-r})}z + (2 - 2^{-r} - c).$$

Then (2) is equivalent to $\psi(\sigma(z), z\sigma'(z); z) = 0 \in E$ -for all $z \in \mathcal{U}$.

We want to apply Lemma 12 to conclude the proof of the theorem. Therefore, to prove that $\operatorname{Re} \sigma(z) > 0$ in $z \in \mathcal{U}$, we must show that the assumptions of our theorem implies that

 $\psi(is, t; z)$ does not have a zero for $z \in \mathcal{U}$ and $t \leq -\frac{(1+s^2)}{2}$ with all $s \in \mathbf{R}$.

Note that,

$$\psi(is,t;z) = t + (1-2^{-r})(is)^{2} + (c_{1} + ic_{2} - 3 + 2^{1-r} - x - iy)(is) + \frac{(1-2^{-r} - a_{1} - ia_{2})}{(1-2^{-r})}(x+iy) + (2-2^{-r} - c_{1} - ic_{2})$$

for z = x + iy. Then

$$Re\left\{\psi\left(is,t;z\right)\right\} = t - \left(1 - 2^{-r}\right)s^{2} - \left(c_{2} - y\right)s + \frac{\left(1 - 2^{-r} - a_{1}\right)}{\left(1 - 2^{-r}\right)}x + \frac{a_{2}}{\left(1 - 2^{-r}\right)}y + \left(2 - 2^{-r} - c_{1}\right) \le -\frac{1}{2}\left\{\left(3 - 2^{1-r}\right)s^{2} + 2\left(c_{2} - y\right)s - \frac{2\left(1 - 2^{-r} - a_{1}\right)}{\left(1 - 2^{-r}\right)}x - \frac{2a_{2}}{\left(1 - 2^{-r}\right)}y + 2c_{1} + 2^{1-r} - 3\right\}$$

Let us define the function $\mathcal{G}(s)$ by

$$\vartheta(s) = (3-2^{1-r})s^{2} + 2(c_{2}-y)s - \frac{2(1-2^{-r}-a_{1})}{(1-2^{-r})}x - \frac{2a_{2}}{(1-2^{-r})}y + 2c_{1} + 2^{1-r} - 3.$$

Then the $\Delta(\text{discrimination})$ of $\vartheta(s)$ satisfies

$$\Delta = \left(y - c_{2}\right)^{2} - \left(3 - 2^{1-r}\right) \left(-\frac{2\left(1 - 2^{-r} - a_{1}\right)}{\left(1 - 2^{-r}\right)}x - \frac{2a_{2}}{\left(1 - 2^{-r}\right)}y + 2c_{1} + 2^{1-r} - 3\right) < -x^{2} + 1 + c_{2}^{2} - \left(3 - 2^{1-r}\right) \left\{-\frac{2\left(1 - 2^{-r} - a_{1}\right)}{\left(1 - 2^{-r}\right)}x + 2\left(\frac{c_{2}}{\left(3 - 2^{1-r}\right)} - \frac{a_{2}}{\left(1 - 2^{-r}\right)}\right) + 2c_{1} + 2^{1-r} - 3\right\}.$$

If we define the function h(x) by

$$h(x) = -x^{2} + 1 + c_{2}^{2} - (3 - 2^{1-r}) \left\{ -\frac{2(1 - 2^{-r} - a_{1})}{(1 - 2^{-r})} x + 2\left(\frac{c_{2}}{(3 - 2^{1-r})} - \frac{a_{2}}{(1 - 2^{-r})}\right) + 2c_{1} + 2^{1-r} - 3 \right\},$$

Then

$$h'(x) = -2(x-x_0),$$

where

$$x_{0} = \frac{\left(3-2^{1-r}\right)\left(1-2^{-r}-a_{1}\right)}{\left(1-2^{-r}\right)}.$$

Therefore, the conditions (i), (ii) and (iii) of the theorem lead to:

(i) if $x_0 < -1$, equivalently if

$$\frac{\left(3-2^{1-r}\right)\left(1-2^{-r}-a_{1}\right)}{\left(1-2^{1-r}\right)} < -1 \Rightarrow \left(1-2^{-r}-a_{1}\right) < \frac{-\left(1-2^{1-r}\right)}{\left(3-2^{1-r}\right)}$$
$$\Rightarrow -a_{1} < \frac{\left(1-2^{-r}\right)\left[-2\left(2-2^{-r}\right)\right]}{\left(3-2^{1-r}\right)}$$
$$\Rightarrow a_{1} > \frac{2\left(1-2^{-r}\right)\left(2-2^{-r}\right)}{\left(3-2^{1-r}\right)}$$

then $h(x) < h(-1) \le 0$.

(ii) if
$$-1 \le x_0 < 1$$
, equivalently if $\frac{2(1-2^{-r})^2}{(3-2^{1-r})} < a_1 \le \frac{2(1-2^{-r})(2-2^{-r})}{(3-2^{1-r})}$,

then $h(x) < h(x_0) \le 0$.

(iii) if $x_0 \ge 1$, equivalently if

$$a_1 \leq \frac{2\left(1-2^{-r}\right)^2}{\left(3-2^{1-r}\right)},$$

then $h(x) < h(1) \le 0$.

Note that the details were omitted at (ii) and (iii).

Thus we have $\Delta < 0$ with the conditions (i), (ii), (iii) of the theorem. This implies that $\vartheta(s) > 0$, that is

$$\operatorname{Re}\left\{\psi\left(is,t;z\right)\right\}<0\quad(z\in\mathcal{U}).$$

Therefore, we conclude that $\psi(is, t; z) \notin E =$

Finally, we obtain $\operatorname{Re} \sigma(z) > 0$ ($z \in \mathcal{U}$) that is equivalent to $z_1 F_1(a;c;z)$ which is starlike of

order 2^{-r} in \mathcal{U} .

REFERENCES

- S.S. Miller, P.T. Mocanu, Differential subordinations and inequalities in the complex plane, J. Differential Equations, 67 (1987), 199-211.
- [2] S.S. Miller, P.T. Mocanu, Univalence of Gaussian and confluent hypergeometric functions, Proc. Amer. Math. Soc. 110 (1990), 333-342.

- [3] S. Owa, H.M. Srivastava, Univalent and starlike generalized hypergeometric functions, Canad. J. Math., 39 (1987), 1057-1077.
- [4] H. Srivastava, S. Owa, Some characterization and distortion theorems involving fractional calculus, generalized hypergeometric functions, Hadamard products, linear operators, and certain subclasses of analytic functions, Nagoya Math. J. 106 (1987), 1-28.
- [5] K. Kuroki, S. Owa, I. Yildiz, On starlikeness of confluent hypergeometric functions, International Journal of Applied Mathematics, Volume 25 No.4 2012, 538-589.